1.

e 2EA x o] g

ON] @ 5
@ 4.5 ® 4

StH?

® 4.8




)
lle}

I Zo] FPAHY ABCD ol D & A= AAdo] ¥
BC ¢t it HS E, ¥ AB o] gAY ot M F et & o, 3x—-2y

)

1o

10—~ __

O 12 @ 16 @ 20 @ 24 ® 25



=

% WaAwgo] opd 2e?

ol

oo

@® AB =CD, AB//CD

@ AD//BC, /A = /B =90°
® /A =/C,/B=/D

@ AB =CD, AD =BC

® AB//CD, AD//BC



AZ ol 271918, AEZHH 6m ol £o] 1m Lol
7l g Ao APey the TYT 2otk A8 kol
Aukel7b? (2, whf7)e] B2 g7t ghct)

s

rr lo

15m = ~--6m---

@ 4.5m @ 5m @ 5.5m @ 6m ® Tm



m ~

1 OAB — o -
CD
A
] L] O]
Iﬂioﬂ Zto __,_H/K':IO

%

R

s
__O.._

~
__OL



